Puissances de Dix (I)

Trouvez chaque produit ou quotient.

8,8 + 10" = 6,77 + 103 =
9,795 + 10* = 41x10%=

8,2 +10%= 6,3497 +~ 102 =
4,981 x 10% = 8,376 + 102 =
73x10° = 592 x 10* =
49 +10' = 1,47 + 10 =
7,174 x 10° = 5915 + 10% =
8,766 x 102 = 76 %10 =
2,4x 10" = 2,26 + 10% =
3,22 % 10% = 6,671 = 10% =
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Puissances de Dix (I) Solutions

Trouvez chaque produit ou quotient.

8,8+ 10'=10,88 6,77 + 10° = 0,00677
9,795 + 10* = 0,09795 4,1 x 10> =410

8,2 +~ 10%= 0,082 6,3497 + 10% = 0,063497
4,981 x 10% = 498,1 8,376 + 10% = 0,08376
7,3 X 10° =7 300 5,92 x 10* = 59,2

49 +10'"=0,49 1,47 + 101 = 0,147

7,174 x 10° =7 174 5,915 =+ 10° = 0,005915
8,766 x 10* = 876,6 7,6 X 101 =76

2,4 x 10" =24 2,26 +10%=0,0226

3,22 X 10 =3 220 6,671 + 10%* = 0,06671
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